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52225 Hospitality Industry AccountingPRIVATE 

Final Examination Answer Sheet

Question 01:

Pancu Hotel purchased a new Jacuzzi at a cost of $ 135,400 including freight and assembling expenses. Pancu Hotel estimated the useful life of the Jacuzzi as 10 years and the salvage value at the end of the estimated useful life to be $ 26,000. Lastly, Pancu Hotel decided to opt for the Sum-Of-The-Years-Digit Method as to depreciate its Jacuzzi over its estimated useful life.

a) Could you prepare a table of Depreciation Expense, Accumulated Depreciation, Historical Cost, and Book Value in order to depreciate the Jacuzzi?
	Year
	Depreciation Expense
	Accumulated Depreciation
	Historical Cost
	Book Value

	
	
	
	
	

	0
	-------------
	---------------
	$135,400
	$135,400

	1
	19,891
	19,891
	135,400
	115,509

	2
	17,902
	37,793
	135,400
	97,607

	3
	15,913
	53,705
	135,400
	81,695

	4
	13,924
	67,629
	135,400
	67,771

	5
	11,935
	79,564
	135,400
	55,836

	6
	9,945
	89,509
	135,400
	45,891

	7
	7,956
	97,465
	135,400
	37,935

	8
	5,967
	103,433
	135,400
	31,967

	9
	3,978
	107,411
	135,400
	27,989

	10
	$1,989
	$109,400
	$135,400
	$26,000


Suppose at the beginning of Year 7, Pancu Hotel’s Management decided to get to get rid of the Jacuzzi by offering it for sale. Furthermore, Management, upon an agreement with a Second-hand Dealer, found a buyer at $ 40,250 to be paid 3 months later. Finally, Pancu Hotel paid $ 2,500 for uninstalling and transporting back the Jacuzzi and another $ 1,250 as a commission for the dealer.

b) What are the Net Proceeds from the Disposal of the Jacuzzi?

· Net Proceeds from the disposal of the Jacuzzi = $ 40,250 – ($ 2,500 + $ 1,250) = $ 36,500.

c) Could you journalize the transaction of the Disposal of the Jacuzzi?

1. At the beginning of Year 7 (i.e. at the end of Year 6), the Book Value of the Jacuzzi showed a value of $ 45,891.
2. Jacuzzi’s Net Market Value = $ 36,500.

3. Therefore, the disposal of the Jacuzzi led to a loss of $ 9,391 (i.e. $ 36,500 – $ 45,891).

· The transaction of the disposal of the Jacuzzi shall be as follows:

---------------------------------------------------------------------------------------------------------------------

A/R




$ 36,500


Accumulated Depreciation – Jacuzzi
$ 89,509


Loss on Disposal of Jacuzzi

$ 9,391



Jacuzzi




$ 135,400

---------------------------------------------------------------------------------------------------------------------

Question 02:

UEFA Hotel has recorded $ 175,320 Income before Income Taxes for the Year Ending December 31st, 02. Moreover, UEFA Hotel, for the same period of time, the Item Amortization Expense recorded in the Fixed Charges Section of the Income Statement included the following Expense Accounts:

· Amortization Expense – Organization Cost

$ 14,500

· Amortization Expense – Goodwill 


$ 4,270

· Amortization Expense – Covenant Not To Compete
$ 3,619

· Amortization Expense – Franchise


$ 15,450

· Amortization Expense – Pre-opening Expenses
$ 7,430

Could you help Mr. Louis Figo, the Accountant of UEFA Hotel, to calculate the Income Tax, and the Net Income of this very Hotel for the Year Ending December, 31st, 02 assuming a 42 % Income Tax Percentage.

Since Covenant Not To Compete, and Goodwill are not Tax Deductible therefore the Income Subject to Income Tax is:

· $ 175,320 + $ 4,270 + $ 3,619 = $ 183,209
· Income Tax = $ 183,209 * 0.42 = $ 76,947.78
· Net Income = $ 175,320 - $ 76,947.78 = $ 98,372.22
Question 03:

Cemal Holiday Village revealed the following Balance Sheet Accounts (sorted in alphabetical order) at December 31st, 02:

	Account
	Value

	Cash – House Banks
	$46,436 

	Cash – Regular Checking
	$22,632 

	Cash – Payroll Checking
	$91,003 

	Marketable Securities
	$70,733 

	Guest Ledger (Debit Balances)
	$90,214 

	Guest Ledger (Credit Balances)
	$77,033 

	City Ledger
	$14,359 

	Allowance For Doubtful Accounts
	$12,035 

	Food Inventory
	$50,098 

	Beverage Inventory
	$34,227 

	Supplies Inventory
	$71,221 

	Prepaid Insurance
	$87,609 

	Prepaid Rent
	$31,014 

	Furniture
	$95,435 

	Equipment
	$54,394 

	Allowance for Depreciation – Furniture
	$29,997 

	Allowance for Depreciation – Equipment
	$22,926 

	China, Glassware, and Silver
	$25,332 

	Organization Costs
	$5,430 

	Covenant Not To Compete
	$2,897 

	Security Deposits
	$16,971 

	Accounts Payable
	$49,495 

	Income Taxes Payable
	$21,104 

	Accrued Payroll
	$92,647 

	Other Accrued Items
	$13,293 

	Notes Payable (See Note 1)
	$178,630 

	Common Stock (See Note 2)
	$86,336 

	Additional Paid-In Capital
	$84,972 

	Retained Earnings (as of 28/12/02)
	$81,817 


Footnotes:

1. The item referred to as Notes Payable is a five-year note. Of the $ 178,630 unpaid balance, $ 39,870 is due in the next 12 months.

2. There are 100,000 shares of $ 1 par common stock authorized; 86,336 of them have been issued.

3. The retained earnings of $ 81,817 are not the retained earnings as of the period ended December 31st, 02 and, hence, shall be ignored. To compute the retained earnings for December 31st, 02, the following data is provided:

Retained Earnings (31/12/01)



$ 90,537



Net Income for the Year Ended 31/12/02

$ 120,000



Dividends declared during the year


$ 69,000

Moreover, Cemal Hotel’s Income Statement as of the year ending December, 31st, 03 revealed the following:

	Income Statement Data

	
	

	Revenue
	$498,567

	Allowances
	$5,963

	Cost of Food Consumed
	$53,482

	Employees Meals
	$14,237

	Cost of Beverage Consumed
	$28,176


a) What are Total Current Assets?




· Total Current Assets = $ 520,478
b) What is the Total Property and Equipment?

· Total Property and Equipment = $ 122,238
c) What are the Total Assets? 

· Total Assets = $ 668,014
d) What are Total Current Liabilities? 

· Total Current Liabilities = $ 216,409
e) What is the Total Shareholder’s Equity?
· Total Shareholder’s Equity = $ 312,845
f) What is Cemal Hotel’s Current Ratio?
· Cemal Hotel’s Current Ratio = 2.41
g) What is Cemal Hotel’s Quick Ratio?
· Cemal Hotel’s Quick Ratio = 1.14
h) What is Cemal Hotel’s A/R Turnover Ratio?
· Cemal Hotel’s A/R Turnover Ratio = 31.77 times
i) What is Cemal Hotel’s Average Collection Period?
· Cemal Hotel’s Average Collection Period = 11.49 days
j) What is Cemal Hotel’s Food Inventory Turnover Ratio?
· Cemal Hotel’s Food Inventory Turnover Ratio = 1.07 times
k) What is Cemal Hotel’s Food Inventory Turnover Period?
· Cemal Hotel’s Food Inventory Turnover Period = 341.91 days
l) What is Cemal Hotel’s Debt to Equity Ratio?
· Cemal Hotel’s Debt to Equity Ratio = 1.14
m) What is Cemal Hotel’s Assets to Liabilities Ratio?


· Cemal Hotel’s Assets to Liabilities Ratio = 1.88
Question 04:

Calculate the month of December’s dollar value of the Cost of Goods Consumed and Ending Inventory from the below given inventory transactions using;     

a) First-In-First-Out Approach. (3 Points)

b) Last-In-First-Out Approach. (3 Points)

c) Weighted Average Approach. (3 Points) 

	Date
	Transaction

	01/12/03
	Counted 08 Units remaining from last month at a total cost of $ 36.80

	04/12/03
	Purchased 05 Units @ $ 4.25 each 

	10/12/03
	Issued 07 Units

	15/12/03
	Purchased 3 Units @ $ 4.75 each

	26/12/03
	Issued 4 Units

	31/12/03
	Issued 3 Units


· Beginning Inventory: 08 Units at a total cost of $ 36.80 → 
Unit Cost = $ 4.60
· Purchases = (5 * 4.25) + (3 * 4.75) = 21.25 + 14.25 = $ 35.50 
First-In-First-Out Approach:

· First Issue: (7 * 4.6) = $ 32.20
· Second Issue: (1 * 4.6) + (3 * 4.25) = 4.60 + 12.75 = $ 17.35
· Third Issue: (2 * 4.25) + (1 * 4.75) = 8.50 + 4.75 = $ 13.25 
→ Cost of Goods Consumed = 32.20 + 17.35 + 13.25 = $ 62.80
→ Ending Inventory = 36.80 + 35.50 – 62.80 = $ 9.50
Last-In-First-Out Approach:

· First Issue: (5 * 4.25) + (2 * 4.60)= 21.25 + 9.20 = $ 30.45
· Second Issue: (3 * 4.75) + (1 * 4.6) = 14.25 + 4.60 = $ 18.85
· Third Issue: (3 * 4.60) = $ 13.80 
→ Cost of Goods Consumed = 30.45 + 18.85 + 13.80 = $ 63.10
→ Ending Inventory = 36.80 + 35.50 – 63.10 = $ 9.20
Weighted Average Method: 

· Total Units Available For Sale (For the month of December) = 8 + 5 + 3 = 16 Units
· Total Cost of Units In Hand (For the month of December) = 36.80 + 35.50 = $ 72.30
· Average Cost / Unit (For the month of December) = 72.30 / 16 = $ 4.51875 / Unit
· Cost of Goods Consumed = 14 * 4.51875 = $ 63.26
· Ending Inventory = 02 * 4.51875 = $ 9.04
Question 05:

Recep has saved 236 Billion TL from his last season he played with Beşiktaş and decided to invest them in a 31 days deposit account at an annual interest of 28 %.

Could you help Recep to calculate how much would be his Interest Income at the Maturity Date!

N.B.: Term Deposit Accounts are subject to the following legal deductions:

· 16 % Withholding Tax

· 10 % Defense Deduction Fund

Answer:
· Applicable Annual Net Interest Rate = 28 % * (100 % - (16 % + (16 % * 10 %))) = 

28 % * (100 % - 17.6 %) = 28 % * 82.4 % = 23.072 %
· Interest Income = 236,000,000,000 * 0.23072 * (31 / 365) = 4,624,513,753 TL.
